

# Geometric Properties and Neighborhood for Certain Subclasses of Multivalent Functions

Hesam Mahzoon

**Abstract**—By using the two existing operators, we have defined an operator, which is an extension for them. In this paper, first the operator is introduced. Then, using this operator, the subclasses of multivalent functions are defined. These subclasses of multivalent functions are utilized in order to obtain coefficient inequalities, extreme points, and integral means inequalities for functions belonging to these classes.

**Keywords**—Coefficient inequalities, extreme points, integral means, multivalent functions, Al-Oboudi operator, and Sălăgean operator.

## I. INTRODUCTION

WE have defined the operator  $D_p(\lambda, q, n)$ , which is an extension of operators of Al-Oboudi Operator [1] and Sălăgean Operator [9]. Also we define two subclasses  $\mathcal{N}_p^\lambda(m, n, \alpha, \beta, b, q)$  and  $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$  using the above mentioned operator. These operator's subclasses mentioned are extension of  $\mathcal{N}_p^\lambda(m, n, \alpha, \beta)$  and  $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta)$ , which are introduced by Eker and Seker [5].

Let  $\mathcal{A}_p$  be the class of functions  $f$  of the form

$$f(z) = z^p + \sum_{j=p+1}^{\infty} a_j z^j, \quad (p \in \mathbb{N} = \{1, 2, 3, \dots\}) \quad (1)$$

which are analytic and  $p$ -valent in the open unit disc  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$ .

**Definition 1.** Let  $\lambda, q \in \mathbb{R}, \lambda \geq 0, q \geq 0, p, n \in \mathbb{N}$  and

$$f(z) = z^p + \sum_{j=p+1}^{\infty} a_j z^j.$$

Then, we define the operator as:  $D_p(\lambda, q, n): \mathcal{A}_p \rightarrow \mathcal{A}_p$  by

$$D_p(\lambda, q, n)f(z) = z^p + \sum_{j=p+1}^{\infty} \left[1 + \frac{(j-p)\lambda}{p+q}\right]^n a_j z^j, \quad (z \in \mathcal{U}). \quad (2)$$

**Definition 2.** The function  $f \in \mathcal{A}_p$  is to be in the class  $\mathcal{N}_p^\lambda(m, n, \alpha, \beta, b, q)$  if

$$\Re \left\{ 1 + \frac{1}{b} \left[ \frac{D_p(\lambda, q, m)f(z)}{D_p(\lambda, q, n)f(z)} - 1 \right] \right\} > \beta \left| \frac{1}{b} \left[ \frac{D_p(\lambda, q, m)f(z)}{D_p(\lambda, q, n)f(z)} - 1 \right] \right| + \alpha \quad (3)$$

for some  $0 \leq \alpha < 1, \beta \geq 0, \lambda \geq 0, q \geq 0, m \in \mathbb{N}, n \in \mathbb{N}_0, b \in \mathbb{C} \setminus \{0\}$  and  $z \in \mathcal{U}$ .

Let  $\mathcal{T}_p$  be the subclass of  $\mathcal{A}_p$  consisting of

$$f(z) = z^p - \sum_{j=p+1}^{\infty} a_j z^j, \quad (a_j \geq 0, p \in \mathbb{N}), \quad (4)$$

which are  $p$ -valent in  $\mathcal{U}$ . Let  $\Omega$  be the class of function  $\omega$  analytic in  $\mathcal{U}$  such that  $\omega(0) = 0, |\omega(z)| < 1$ .

For any two functions  $f$  and  $g$  in  $\mathcal{T}_p$ ,  $f$  is said to be subordinate to  $g$  denoted  $f < g$  if there exists an analytic function  $\omega \in \Omega$  such that  $f(z) = g(\omega(z))$  [2]. Further, if  $f(z) = z^p - \sum_{j=p+1}^{\infty} a_j z^j$ , then we have :

$$D_p(\lambda, q, n)f(z) = z^p - \sum_{j=p+1}^{\infty} \left[1 + \frac{(j-p)\lambda}{p+q}\right]^n a_j z^j, \quad (z \in \mathcal{U}). \quad (5)$$

For any function  $f \in \mathcal{T}_p$  and  $\delta \geq 0$ , the  $(\delta)$ -neighborhood of  $f$  is defined as :

$$\mathcal{N}_\delta(f) = \{g(z) = z^p - \sum_{j=p+1}^{\infty} b_j z^j \in \mathcal{T}_p : \sum_{j=p+1}^{\infty} j |a_j - b_j| \leq \delta\}. \quad (6)$$

In particular, for the function  $e(z) = z^p$ , we see that :

$$\mathcal{N}_\delta(e) = \{g(z) = z^p - \sum_{j=p+1}^{\infty} b_j z^j \in \mathcal{T}_p : \sum_{j=p+1}^{\infty} j |b_j| \leq \delta\}. \quad (7)$$

The concept of neighborhoods was first introduced by Goodman [6] and then generalized by Ruscheweyh [8].

**Definition 3.** A function  $f \in \mathcal{T}_p$  is said to be in the class  $\mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$  if

$$\frac{D_p(\lambda, q, m+n)f(z)}{D_p(\lambda, q, n)f(z)} < \frac{1+\gamma z}{1+Bz}, \quad z \in \mathcal{U}, \quad (8)$$

where,  $\gamma = (1-\beta)A + \beta B, 0 \leq \beta < 1, q, n \in \mathbb{N}_0, m \in \mathbb{N}, \lambda \geq 1$  and  $-1 \leq B < A \leq 1$ .

## II. COEFFICIENT INEQUALITIES FOR THE CLASS

$$\mathcal{N}_p^\lambda(m, n, \alpha, \beta, b, q)$$

**Theorem 1.** If  $f \in \mathcal{A}_p$  satisfies, then

$$\sum_{j=p+1}^{\infty} \psi_p(\lambda, m, n, j, \alpha, \beta, b, q) |a_j| \leq 2|b|(1-\alpha) \quad (9)$$

where,

$$\begin{aligned} \psi_p(\lambda, m, n, j, \alpha, \beta, b, q) &= \left| (1+b\alpha) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n - \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m \right| + \left( [b(2-\alpha) - 1] \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n + \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m \right) + \\ &2\beta \left| \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \right| |a_j| \geq 0. \end{aligned}$$

## III. RELATION FOR $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$

By Theorem 1 we introduce the class  $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$

as the subclass of  $\mathcal{N}_p^\lambda(m, n, \alpha, \beta, b, q)$  consisting of  $f$  satisfying

$$\sum_{j=p+1}^{\infty} \psi_p(\lambda, m, n, j, \alpha, \beta, b, q) |a_j| \leq 2|b|(1-\alpha) \quad (10)$$

where,

$$\begin{aligned} \psi_p(\lambda, m, n, j, \alpha, \beta, b, q) = & \\ & \left| (1+b\alpha) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n - \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m \right| \\ & + \left( [b(2-\alpha) - 1] \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n + \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m \right) \\ & + 2\beta \left| \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \right| \end{aligned}$$

for some  $\alpha$  ( $0 \leq \alpha < 1$ ),  $\beta \geq 0$ ,  $m \in \mathbb{N}$ ,  $n \in \mathbb{N}_0$  and  $b \in \mathbb{C} \setminus \{0\}$ .

**Theorem 2.** If  $f \in \mathcal{A}_p$ , then  $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta_2, b, q) \subset \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta_1, b, q)$  for some  $\beta_1$  and  $\beta_2$ , such that

$$0 \leq \beta_1 \leq \beta_2.$$

**Proof.** For  $0 \leq \beta_1 \leq \beta_2$ , we have

$$\frac{\sum_{j=p+1}^{\infty} \psi_p(\lambda, m, n, j, \alpha, \beta_1, b, q) |a_j|}{\sum_{j=p+1}^{\infty} \psi_p(\lambda, m, n, j, \alpha, \beta_2, b, q) |a_j|} \leq 1$$

Therefore, if  $f \in \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta_2, b, q)$ , then  $f \in \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta_1, b, q)$ .

#### IV. EXTREME POINTS

The determination of extreme points of a family  $\mathcal{F}$  of univalent functions enables us to solve many external problems for  $\mathcal{F}$ .

**Theorem 3.** Let  $f_p(z) = z^p$  and

$$f_j(z) = z^p + \frac{2|b|(1-\alpha)\varepsilon_j}{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)} z^j, \quad (j = p+1, p+2, \dots; |\varepsilon_j| = 1).$$

Then,  $f \in \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$  if and only if it can be expressed in the form

$$f(z) = \lambda_p f_p(z) + \sum_{j=p+1}^{\infty} \lambda_j f_j(z),$$

where,  $\lambda_j > 0$  and  $\lambda_p = 1 - \sum_{j=p+1}^{\infty} \lambda_j$ .

**Proof.** Suppose that

$$f(z) = \lambda_p f_p(z) + \sum_{j=p+1}^{\infty} \lambda_j f_j(z) = z^p + \sum_{j=p+1}^{\infty} \lambda_j \frac{2|b|(1-\alpha)\varepsilon_j}{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)} z^j.$$

Then,

$$\sum_{j=p+1}^{\infty} \psi_p(\lambda, m, n, j, \alpha, \beta, b, q) \left| \frac{2|b|(1-\alpha)\varepsilon_j}{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)} \lambda_j \right|$$

$$\begin{aligned} &= \sum_{j=p+1}^{\infty} 2|b|(1-\alpha)\lambda_j \\ &= 2|b|(1-\alpha) \sum_{j=p+1}^{\infty} \lambda_j \\ &= 2|b|(1-\alpha)(1-\lambda_p) \\ &\leq 2|b|(1-\alpha). \end{aligned}$$

Thus,  $f \in \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$ . Conversely, let  $f \in \tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$ . Since

$$|a_j| \leq \frac{2|b|(1-\alpha)}{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)}, \quad (j = p+1, p+2, \dots)$$

we put

$$\lambda_j = \frac{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)}{2|b|(1-\alpha)\varepsilon_j} a_j, \quad (|\varepsilon_j| = 1)$$

and

$$\lambda_p = 1 - \sum_{j=p+1}^{\infty} \lambda_j.$$

Then,

$$f(z) = \lambda_p f_p(z) + \sum_{j=p+1}^{\infty} \lambda_j f_j(z).$$

**Corollary 1.** The extreme points of  $\tilde{\mathcal{N}}_p^\lambda(m, n, \alpha, \beta, b, q)$  are the functions  $f_p(z) = z^p$  and

$$f_j(z) = z^p + \frac{2|b|(1-\alpha)\varepsilon_j}{\psi_p(\lambda, m, n, j, \alpha, \beta, b, q)} z^j, \quad (j = p+1, p+2, \dots; |\varepsilon_j| = 1).$$

#### V. DISTORTION AND COVERING THEOREMS

**Theorem 4.** If  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ , then

$$r^p - \frac{\gamma - B}{\left(1 + \frac{1}{p+q} \lambda\right)^n \left\{ (1-B) \left(1 + \frac{1}{p+q} \lambda\right)^m - (1-\gamma) \right\}} r^{1+p} \leq |f(z)| \leq$$

$$r^p + \frac{\gamma - B}{\left(1 + \frac{1}{p+q} \lambda\right)^n \left\{ (1-B) \left(1 + \frac{1}{p+q} \lambda\right)^m - (1-\gamma) \right\}} r^{1+p}. \quad (0 < |z| = r < 1),$$

with equality for

$$f(z) = z^p - \frac{\gamma - B}{\left(1 + \frac{1}{p+q} \lambda\right)^n \left\{ (1-B) \left(1 + \frac{1}{p+q} \lambda\right)^m - (1-\gamma) \right\}} r^{1+p}. \quad (z = \pm r) \quad (11)$$

**Proof.** In Theorem 1, we have

$$\begin{aligned} & -3.5cm \left(1 + \frac{1}{p+q} \lambda\right)^n \left\{ (1-B) \left(1 + \frac{1}{p+q} \lambda\right)^m - (1-\gamma) \right\} \sum_{k=1+p}^{\infty} a_k \\ & \leq \sum_{k=1+p}^{\infty} \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\} a_k \leq \gamma - B. \end{aligned}$$

Hence

$$-3.7cm |f(z)| \leq r^p + \sum_{k=1+p}^{\infty} a_k r^k \leq r^p + r^{1+p} \sum_{k=1+p}^{\infty} a_k \quad f(z) = z^p - \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} z^{1+p} \cdot 3cm(z = \pm r) \quad (12)$$

$$1cm \leq r^p + \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^n \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} r^{1+p}$$

**Proof.** We have

$$|f'(z)| \leq 1 + \sum_{k=1+p}^{\infty} k a_k |z|^{k-1} \leq 1 + r \sum_{k=1+p}^{\infty} k a_k$$

and

$$-3.7cm |f(z)| \geq r^p - \sum_{k=1+p}^{\infty} a_k r^k \geq r^p - r^{1+p} \sum_{k=1+p}^{\infty} a_k$$

In Theorem 5, we have

$$1cm \geq r^p - \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^n \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} r^{1+p} \cdot \sum_{k=1+p}^{\infty} k a_k \leq \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}}$$

Thus

$$|f'(z)| \leq 1 + \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} r$$

This completes the proof.

**Theorem 5.** Any function  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$  maps the disk  $|z| < 1$  on to a domain that contains the disk

$$|w| < 1 - \frac{\gamma - B}{\left(1 + \frac{j}{p+q}\lambda\right)^n \left\{ (1-B)\left(1 + \frac{j}{p+q}\lambda\right)^m - (1-\gamma) \right\}}$$

On the other hand,

$$\begin{aligned} |f'(z)| &\geq 1 - \sum_{k=1+p}^{\infty} k a_k |z|^{k-p} \geq 1 - r \sum_{k=1+p}^{\infty} k a_k \\ &\geq 1 - \frac{\gamma - B}{\left(1 + \frac{1}{p}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p}\lambda\right)^m - (1-\gamma) \right\}} r \end{aligned}$$

**Proof.** The proof follows upon letting  $r \rightarrow 1$  in Theorem 4.

**Theorem 6.** If  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ , then

$$\begin{aligned} 1 - \frac{(\gamma - B)}{\left(1 + \frac{1}{p+q}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} r &\leq |f'(z)| \leq \\ 1 + \frac{\gamma - B}{\left(1 + \frac{1}{p+q}\lambda\right)^{n-1} \left\{ (1-B)\left(1 + \frac{1}{p+q}\lambda\right)^m - (1-\gamma) \right\}} r &1.3cm(0 < |z| = r < 1), \end{aligned}$$

This completes the proof.

#### VI. NEW SUBCLASSES OF RADII OF STARLIKENESS AND CONVEXITY

We calculate the radius of starlikeness of order  $\rho$  and the radius of convexity of order  $\rho$  for functions  $\mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ .

with the equality for

**Theorem 7.** Let  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ , then we have  $f$  as starlike of order  $\rho$ , ( $0 \leq \rho < p$ ) in  $|z| < r_1(\beta, n, m, p, q, A, B, \lambda, \rho)$  where

$$r_1(\beta, n, m, p, q, A, B, \lambda, \rho) = \inf_k \left[ \frac{\left[ \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n - .1cm \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - .18cm - .18cm(1-\gamma) \right\} (p-\rho) \right]}{(k-\rho)(\gamma-B)} - .1cm \right]^{\frac{1}{k-p}}$$

**Proof.** We show that  $\left| z \frac{f'(z)}{f(z)} - p \right| \leq p - \rho$  ( $0 \leq \rho < p$ ) for

$$\left| z \frac{f'(z)}{f(z)} - p \right| \leq \frac{\sum_{k=1+p}^{\infty} (k-p) a_k |z|^{k-p}}{1 - \sum_{k=1+p}^{\infty} a_k |z|^{k-p}}$$

$|z| < r_1(\beta, n, m, p, q, A, B, \lambda, \rho)$ .

We have

Thus

$$\left| z \frac{f'(z)}{f(z)} - p \right| \leq p - \rho$$

if

$$\sum_{k=1+p}^{\infty} \frac{(k-\rho)a_k |z|^{k-p}}{(p-\rho)} \leq 1. \quad (13)$$

Then by Theorem 1, will be true if

$$\frac{(k-\rho)|z|^{k-p}}{(p-\rho)} \leq \frac{\left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\}}{(\gamma-B)}$$

$$r_2(\beta, n, m, p, q, A, B, \lambda, \rho) = \inf_k \left[ \frac{\left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - .18cm - .18cm(1-\gamma) \right\} (p-\rho)}{k(k-\rho)(\gamma-B)} - .1cm \right]^{\frac{1}{k-p}}$$

$$(k \geq 1+p)$$

**Proof.** We show that  $\left| 1 + z \frac{f''(z)}{f'(z)} - p \right| \leq p - \rho$  ( $0 \leq \rho < p$ ) for

$|z| < r_2(\beta, n, m, p, q, A, B, \lambda, \rho)$ . We have

$$\left| 1 + z \frac{f''(z)}{f'(z)} - p \right| \leq \frac{\sum_{k=1+p}^{\infty} k(k-\rho)a_k |z|^{k-p}}{1 - \sum_{k=1+p}^{\infty} k a_k |z|^{k-p}}$$

Thus

$$\left| 1 + z \frac{f''(z)}{f'(z)} - p \right| \leq p - \rho$$

if

$$\sum_{k=1+p}^{\infty} \frac{k(k-\rho)a_k |z|^{k-p}}{(p-\rho)} \leq 1. \quad (15)$$

Then by Theorem 1, will be true if

$$\frac{k(k-\rho)|z|^{k-p}}{(p-\rho)} \leq \frac{\left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\}}{(\gamma-B)}$$

or if

$$|z| \leq \left[ \frac{\left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - .18cm - .18cm(1-\gamma) \right\} (p-\rho)}{k(k-\rho)(\gamma-B)} - .1cm \right]^{\frac{1}{k-p}}$$

or if

$$|z| \leq \left[ \frac{\left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(k-p)\lambda}{p+q} \right]^m - .18cm - .18cm(1-\gamma) \right\} (p-\rho)}{(k-\rho)(\gamma-B)} - .1cm \right]^{\frac{1}{k-p}} \quad (k \geq 1+p) \quad (14)$$

**Theorem 8.** Let  $f \in \mathbb{T}(\beta, n, m, p, q, A, B, \lambda)$ , we proof that  $f$  is convex of order  $\rho$ , ( $0 \leq \rho < p$ ) in  $|z| < r_2(\beta, n, m, p, q, A, B, \lambda, \rho)$  where

## VII. NEIGHBORHOODS FOR THE CLASS $\mathbb{T}(\beta, n, m, p, q, A, B, \lambda)$

**Theorem 9** A function  $f \in \mathbb{T}_p$  belongs to the class  $\mathbb{T}(\beta, n, m, p, q, A, B, \lambda)$  if and only if

$$\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m \left\{ (1-B) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\} a_j \leq \gamma - B \quad (16)$$

where,

$$\gamma = (1-\beta)A + \beta B, 0 \leq \beta < 1, q, n \in \mathbf{N}_0, m \in \mathbf{N}, \lambda \geq 1$$

and

$$-1 \leq B < A \leq 1.$$

**Proof.** Let  $f \in \mathbb{T}(\beta, n, m, p, q, A, B, \lambda)$ . Then,

$$\frac{D_p(\lambda, q, m+n)f(z)}{D_p(\lambda, q, n)f(z)} \prec \frac{1+\gamma z}{1+Bz}, \quad z \in \mathbf{U}. \quad (17)$$

Therefore, there exists an analytic function  $\omega$  such that

$$\omega(z) = \frac{D_p(\lambda, q, n)f(z) - D_p(\lambda, q, m+n)f(z)}{BD_p(\lambda, q, m+n)f(z) - \gamma D_p(\lambda, q, n)f(z)} \quad (18)$$

Hence,

$$|\omega(z)| = \left| \frac{D_p(\lambda, q, n)f(z) - D_p(\lambda, q, m+n)f(z)}{BD_p(\lambda, q, m+n)f(z) - \gamma D_p(\lambda, q, n)f(z)} \right|$$

$$= \left| \frac{\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - 1 \right\} a_j z^j}{(\gamma - B)z^p + \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ B \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \gamma \right\} a_j z^j} \right| < 1.$$

Thus,

$$\Re \left\{ \frac{\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - 1 \right\} a_j z^j}{(\gamma - B)z^p + \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ B \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \gamma \right\} a_j z^j} \right\} < 1. \quad (19)$$

Taking  $|z| = r$ , for sufficiently small  $r$  with  $0 < r < 1$ , the denominator of (19) is positive and so it is positive for all  $r$  with  $0 < r < 1$ , since  $\omega(z)$  is analytic for  $|z| < 1$ . Then, the inequality (19) yields

$$\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - 1 \right\} a_j r^j$$

$$< (\gamma - B)r^p + B \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^{n+m} a_j r^j - \gamma \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n a_j r^j.$$

Equivalently,

$$\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\} a_j r^j \leq (\gamma - B)r^p$$

and (16) follows upon letting  $r \rightarrow 1$ . Conversely, for  $|z| = r, 0 < r < 1$ , we have  $r^j < r^p$ . That is,

$$\sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\} a_j r^j$$

$$\leq \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ (1-B) \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - (1-\gamma) \right\} a_j r^p \leq (\gamma - B)r^p.$$

From (16) we have

$$\left| \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - 1 \right\} a_j z^j \right|$$

$$\leq \sum_{j=p+1}^{\infty} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n \left\{ \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - 1 \right\} a_j r^j$$

$$< (\gamma - B)r^p + \sum_{j=p+1}^{\infty} \left\{ B \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \gamma \right\} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n a_j r^j$$

$$< (\gamma - B)z^p + \sum_{j=p+1}^{\infty} \left\{ B \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^m - \gamma \right\} \left[ 1 + \frac{(j-p)\lambda}{p+q} \right]^n a_j z^j.$$

This proves that

$$\frac{D_p(\lambda, q, m+n)f(z)}{D_p(\lambda, q, n)f(z)} \prec \frac{1 + \gamma z}{1 + Bz}, \quad z \in \mathbb{U}$$

and hence  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ .

**Theorem 10.** If

$$\delta = \frac{(\gamma - B)}{\left( 1 + \frac{1}{p+q} \lambda \right)^{n-1} \left[ (1-B) \left( 1 + \frac{1}{p+q} \lambda \right)^m - (1-\gamma) \right]}, \quad (20)$$

then  $\mathcal{T}(\beta, n, m, p, q, A, B, \lambda) \subset \mathcal{N}_\delta(e)$ .

**Proof.** It follows from (16) that if  $f \in \mathcal{T}(\beta, n, m, p, q, A, B, \lambda)$ , then

$$\left( 1 + \frac{1}{p+q} \lambda \right)^{n-1} \left[ (1-B) \left( 1 + \frac{1}{p+q} \lambda \right)^m - (1-\gamma) \right] \sum_{j=p+1}^{\infty} j a_j \leq (\gamma - B), \quad (21)$$

which implies,

$$\sum_{j=p+1}^{\infty} j a_j \leq \frac{(\gamma - B)}{\left( 1 + \frac{1}{p+q} \lambda \right)^{n-1} \left[ (1-B) \left( 1 + \frac{1}{p+q} \lambda \right)^m - (1-\gamma) \right]} = \delta. \quad (22)$$

Solving (22) we get the result.

## VIII. CONCLUSION

The following are the special cases of the class  $\mathcal{N}_p^\lambda(m, n, \alpha, \beta, b, q)$ :

1.  $\mathcal{N}_p^1(m, n, \alpha, \beta, 1, 0) \equiv \mathcal{N}_p(m, n, \alpha, \beta)$ , the class introduced by Eker and Seker [5].
2.  $\mathcal{N}_1^1(m, n, \alpha, \beta, 1, 0) \equiv \mathcal{N}_{m,n}(\alpha, \beta)$ , the class studied by Eker and Owa [3].
3.  $\mathcal{N}_1^1(1, 0, \alpha, \beta, 1, 0) \equiv \mathcal{SD}(\alpha, \beta)$  and  $\mathcal{N}_1^1(2, 1, \alpha, \beta, 1, 0) \equiv \mathcal{KD}(\alpha, \beta)$ , the classes studied by Shams et al. [10].
4.  $\mathcal{N}_1^1(1, 0, \alpha, 0, 1, 0) \equiv \mathcal{S}^*(\alpha)$  and  $\mathcal{N}_1^1(2, 1, \alpha, 0, 1, 0) \equiv \mathcal{K}(\alpha)$ , the classes suggested by Robertson [7].
5.  $\mathcal{N}_1^1(m, n, \alpha, 0, 1, 0) \equiv \mathcal{K}_{m,n}(\alpha)$ , the class studied by Eker

and Owa [4].

#### REFERENCES

- [1] F. M. Al - Oboudi, On univalent functions defined by a generalized Sălă gean operator, *Ind. J. Math. Math. Sci.*, 2004, No. 25 - 28, pp. 1429 - 1436.
- [2] P. L. Duren, *Univalent functions*, Springer-Verlag, 1983.
- [3] S. S. Eker and S. Owa, Certain classes of analytic functions involving Sălă gean operator, *J. Inequal. Pure Appl. Math.*, (in course of publication).
- [4] S. S. Eker and S. Owa, New applications of classes of analytic functions involving Sălă gean operator, *International Symposium on Complex Function Theory and Applications*, Brasov, Romania, 2006, pp. 1 - 5.
- [5] S. S. Eker and B. Seker, On a class of multivalent functions defined by Sălă gean operator, *General Mathematics*, Vol. 15, Nr. 2-3, 2007, pp. 154 - 163.
- [6] A. W. Goodman, Univalent functions and nonanalytic curves, *Proc. Amer. Math. Soc.*, 8(3), 1957, pp. 598-601.
- [7] M. S. Robertson, On the theory of univalent functions, *Annals of Math.*, 37, 1936, pp. 374 - 406.
- [8] S. Ruscheweyh, Neighbourhoods of univalent functions, *Proc. Amer. Math. Soc.*, 81, 1981, pp. 521-527.
- [9] G. S. Sălă Gean, On some classes of univalent functions, *Seminar of Geometric function theory*, Cluj - Napoca, 1983.
- [10] S. Shams, S. R. Kulkarni and J. M. Jahangiri, Classes of uniformly starlike and convex functions, *International Journal of Mathematics and Mathematical Science*, 55, 2004, pp. 2959 - 2961.